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D-AD7 Practice Assessment
Given below is the graph of f' the first derivative of f Use it to answer #1 and 2.

1. Over what interval(s) is f decreasing? Explain in detail.
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3. Find the absolute extrema of f(x) = 2x® — 6x — 2 over the interval [-4,0].
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D-AD9
5. For what interval(s) is the function f(x) = x3 + 3x2 — 9x + 7 increasing? Justify your answer. _ ¢
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6. Find the value of ¢ guaranteed to exist by the Mean Value Theorem for f(x) = x3 — 2x2 over | ST oy
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7. Find -&-"j: 1,2y for xy* +2xy =8
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9. A water tank has a hole in it and is being slowly drained. Suppose the volume of water V, in liters, in

the tank at any time ¢, in seconds, is given by the twice differentiable function W(t) At time t=0,
there are 20 liters in the tank.

a. Is W(t) always positive or negative? Explain.
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b. Explain the meaning of W'(b) = a using correct units.
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10. The country of Mozambique’s population can be modeled by the twice differentiable function M(t)
where M meagures the populapon in mﬂhons of people and t is measured in years after 1950. Explain

2
the meaning of L2 e ] t=50 O .25. uSmg correct units.
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